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Sunrise - Sultan Deluxe Shawl
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Materials
Y2 (1) skein Sultan Deluxe col. 24

3.5 mm circular needle 80 cm

Yarn quality

Sultan Deluxe, Cotton Kings
100% cotton / 250 g = 1000 meters

Knitting gauge
1 pattern repeat =
5 cm in width x 3.5 cm in height

Measurements
Width: 150 (180) cm
Height, middle: 56 (66) cm

Pattern information

Work flat in the circular needle.
Decreases are worked evenly along
the way to create a triangle shawl.
Make sure not to tighten the yarn
when slipping the first stitch.

Hashtags for social media
#hobbiidesign #hobbiisunrise

Enjoy!
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Edge sts (over 3 sts)

Right side: Slip the first st knitwise, ssk, work pattern until there are 3 sts left on the needle,
k2tog, p1.

Wrong side: Slip the first sts, p all sts.

NB Make sure not to tighten the yarn when slipping the first edge st.

Pattern instructions
Cast on 305 (365) sts on a 3.5 mm needle.

Work 6 rows of garter stitch.

Continue according to the diagram on p. 4.

NB Work the edge sts at the start and end of each row as described above. These sts are
not shown in the diagram.

The pattern repeat is marked with a red/bold square.

Row 1 of diagram (WS): purl.

Row 2 of diagram (RS): Make edge sts, work as pattern describes, work edge sts.

Continue following the diagram until you have 9 sts left on the needle.

Finish the last pattern repeat as such

Row 26 (RS): Work 3 edge sts, work 3 sts together (slip 1 st, k2tog, lift slipped st over that),
k2tog, p1 = 6 sts left.

Row 27 (WS): Slip 1 st, p5.

Row 28 (RS): Slip 1 st, work 4 sts together (slip 1 st, k3tog, lift slipped st over that), p1 =3
sts left.

Row 29 (WS): Work 3 sts together (slip 1 st, k2tog, lift slipped st over that) = 1 st left.

Cut the yarn, pull through last st and weave in end.
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. these sts do not exist, as you decrease on both sides of the work
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\_éw__ou work 4 sts together (slip 1 st, k3tog, lift slipped st over that)

; work 4 sts together (k3tog, transfer st to left needle, lift second st on left needle over it, slip into right needle), yo
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